Multiplication
and division

Name

° Match each statement to the correct bar model.
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e Work out
8 8
12x9=
8 X7 =
0 Circle all the multiples of 6
9199 18 26 66 106 126

The product of two numbers is 36
The sum of the two numbers is 13

Leon makes an array using counters.
Part of the array is covered.

o Circle the two numbers.

2 3 4 6 9 12

Write down a multiplication that the array
shows.

Q What is the value of the square?

X

How many counters are in the array?

° Apples cost 12p and oranges cost 9p
Annie spends 120p in total on apples and

oranges. e A sticker book can fit 12 stickers on each page.

She buys 7 apples. 9 out of 16 pages of the book are full.

How many more stickers are needed to complete
', the sticker book?

-

How many oranges does she buy?
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